

$$(2) \quad x(n) = n^2 \cos\left(n \frac{\pi}{4}\right) (u(n+2) - u(n-2))$$

$-2 \leq n \leq 1$ for non-zero x

n	n^2	$n \frac{\pi}{4}$	$\cos\left(n \frac{\pi}{4}\right)$
-2	4	$-\frac{\pi}{2}$	0
-1	1	$-\frac{\pi}{4}$	$\frac{1}{\sqrt{2}}$
0	0	0	0 1
1	1	$\frac{\pi}{4}$	$\frac{1}{\sqrt{2}}$

$\therefore x(n) \neq 0$ only for $n = \pm 1$

$$x = \left[\frac{1}{\sqrt{2}} \quad 0 \quad \frac{1}{\sqrt{2}} \right]$$

$$(3) \quad x(n) = \frac{1}{\sqrt{2}} \delta(n+1) + \frac{1}{\sqrt{2}} \delta(n-1) = \frac{1}{\sqrt{2}} (\delta(n+1) + \delta(n-1))$$